

Hall County Government

FINANCIAL SERVICES

CONTRACT EXECUTION SIGNATURE REQUEST

POST OFFICE DRAWER 1435 GAINESVILLE, GA 30503

t: 770.535.8270 | f: 770.531.6711

INTERIM DIRECTOR Taylor Samples, CPA

05/02/2024 Date:

To: Richard Higgins, Chairman, BOC

From: Julie Dorough, Buyer

Your signature is requested to execute the attached bid/contract award

documents for:

Bid/Contract No:

42-002-3

Bid/Contract Name:

Demand Services for Resurfacing, Paving, and Full

Depth Reclamation

Department(s) Requesting Contract: Public Works & Utilities

Award Recipient Name:

Allied Paving Contractors, Inc. and Pittman

Construction Company

Contract Description:

☐ New

□ Renewal

Prior Year's Spend:

\$10,414,217

☐ Price Increase Requested

Increase Percentage: 0%

Estimated Amount:

\$14,800,000

Product Contract

Estimated Amount:

\$0

Comments: Year four (4) of a possible five (5) year contract. Allied Paving, Inc. and Pittman Construction Company are both vendors in good standing with the County. There are no price increases requested for FY25.

Contract Renewal #3

Demand Services for Resurfacing, Paving and Full Depth Reclamation

April 3, 2024

Whereas, the County desires to extend the contract period for a one year period through June 30. 2025, in accordance with the terms and conditions of Bid #42-002, Resurfacing, Paving and Full Depth Reclamation, dated August 26, 2021 and

Whereas, the Contractor has agreed to this extension and agrees to provide services and/or materials previously supplied in accordance with the original agreement; and

Whereas, with both parties agreeing to the extension as stated and therefore, the above numbered contract is hereby changed as follows:

- 1. By extending the contract coverage for a one year period through June 30, 2025,
- 2. Allow for price adjustments as agreed to and recorded in Attachment A,
- 3. Change Orders: Any and all change orders requested by the successful bidder on this project must be approved per the County's Purchasing Policies through the Contract Administrator prior to any work being performed. Any work performed outside the contract agreement for which compensation over and above the contract is requested must have an approved Change Order. If work is done before approval of a Change Order, the subsequent Change Order will be rejected.

With the above change to the original contract set forth herein, the parties hereto agree that all terms and conditions of the original agreement will remain in full force and effect and legally binding on both parties.

In witness whereof, the parties hereto have	set their hands and affixed their seals the day and year
first above written.	HALL COUNTY GEODGIA
Allied Paving Contractors, Inc.	HALL COUNTY, GEORGIA
CRAI	D.
D.C. By: 12	Ву
Print Name: Bryan Jones	Richard Higgins, Chairman
Vice President	Hall County Board of Commissioners
Similar	
	Date:
Sworn to and subscribed before me this	Attestment:
	County Clerk
	APPROVED AS TO FORM
	Approved as to Form
A SUN COLOR	wor ~
Notary Public:	Nathaniel R. Anderson,
T OM STATE	William J. Linkous, County Attorney or designee
Notary commission expires	

AC O1 26-20 G

Contract Renewal #3

Demand Services for Resurfacing, Paving and Full Depth Reclamation

April 3, 2024

Whereas, the County desires to extend the contract period for a one year period through June 30, 2025, in accordance with the terms and conditions of Bid #42-002, Demand Services for Resurfacing, Paving and Full Depth Reclamation, dated August 26, 2021 and

Whereas, the Contractor has agreed to this extension and agrees to provide services and/or materials previously supplied in accordance with the original agreement; and

Whereas, with both parties agreeing to the extension as stated and therefore, the above numbered contract is hereby changed as follows:

- 1. By extending the contract coverage for a one year period through June 30, 2025,
- 2. Allow for price adjustments as agreed to and recorded in Attachment A,
- 3. Change Orders: Any and all change orders requested by the successful bidder on this project must be approved per the County's Purchasing Policies through the Contract Administrator prior to any work being performed. Any work performed outside the contract agreement for which compensation over and above the contract is requested must have an approved Change Order. If work is done before approval of a Change Order, the subsequent Change Order will be rejected.

With the above change to the original contract set forth herein, the parties hereto agree that all terms and conditions of the original agreement will remain in full force and effect and legally binding on both parties.

In witness whereof, the parties hereto have set their hands and affixed their seals the day and year first above written.

Pittman Construction Company	HALL COUNTY, GEORGIA
SEATE PRESIDENT	By. Richard Higgins, Chairman Hall County Board of Commissioners
1961	Date:
annual Marie	County Clerk
CEOD Subject of Spril 2024	Approved as to Form APPROVED AS TO FORM WAS CO
CEORCIA Februatory Comphission expires: 2/6/28	William J. Linkous, County Attorney OF designee
February commission expires: 2/6/28 COUNT TOOUNT TOOUNT TOO TOO TO THE PROPERTY OF THE PROPER	

BID SCHEDULE					Pittman Construction Alli		Allled	l Paving	C.W. M	C.W. Matthews	
		021 Local Resurfacing Program		·							
ITEM NO.	GDOT ITEM	ITEM	QUANTIT Y	UNIT	UNIT AMOUNT	EXT AMOUNT	UNIT AMOUNT	EXT _AMOUNT	UNIT AMOUNT	EXT AMOUNT	
	F	AVING AND RESURFACING ITEM	is	l					<u> </u>		
5	318-3800	Aggregate Surface Course	100	TN	\$45.00	\$4,500.00	\$60.00	\$6,000.00	5280,54	528,054.00	
10	402-1812	Recycled Asph. Conc. Leveling, Incl. Bitum Material & H Lime	9,620	TN	S107.50	\$1,034,150.00	\$103.50	5995 ,670.00	S109.61	\$1,054,448.20	
1 5	402-3100	Recycled Asph Cone 9.5 MM Superpave, Type I, Group 1 or Blend 1, include bitum material & H lime	10,737	TN	\$109,50	\$1,175,701.50	\$103.50	\$1,111,279.30	\$97,69	\$1,048,897,53	
30	402-3103	Recycled Asph Cone 9.5 MM Superpave, Type II, Group 2 only, Include bitum material & H lime	10,785	TN	\$110,85	\$1,195,517.25	\$103,50	S1,116,247.50	\$92.07	\$992,974.95	
35	413-1000	filtum, Tack Coat	29,306	GL	\$3.50	\$102,571.00	\$2,95	\$86,452.70	\$2,28	\$66,817.68	
40	441-0016	Driveway Concrete, 6 in thick	100	SY	\$115,00	\$11,500.00	\$48.00	\$4,800.00	\$134.11	\$13,411.00	
45		Sawed Joints in Exist Pavement PCC	100	SY	\$22,00	\$2,200.00	\$3.00	\$300.00	\$12.00	\$1,200.00	
50		Asphalt Patching	22,037	TN	\$179.95	53,965,558.15	\$118.50	\$2,611,384.50	\$122.65	\$2,702,838.05	
55		Crack Sealing	16,52	MI	\$6,510.00	\$107,545.20	\$7,500.00	S123,900.00	\$6,200.00	\$102,424.00	
60	432-5010	Mill Asphalt Concrete Pavement, Variable Depth	5,000	SY	\$5.70	\$28,500.00	\$2.65	\$13,250.00	\$13.76	\$68,800.00	
65	444-1000	Shoulder Construction	47.5	MI ·	\$12,270.00	\$582,825.00	\$2,400.00	\$114,000,00	\$5,909.77	\$280,714.08	
70	706-1002	Turf Establishment, TP B	11.52	AC	\$4,500.00	\$51,840.00	\$1,920.00	\$22,118.40	\$1,600,00	\$18,432.00	
				Subtotal		\$8,262,408.10		\$6,205,402.60		\$6,379,011.49	
		SIGNING AND MARKING ITEMS				l		i			
75	150-1000	Traffic Control	1 .	Lump	\$900,550.00	\$900,550,00	\$295,000.00	\$295,000.00	\$1,020,410.91	\$1,020,410.91	
100	653-1504	Thermoplastic Solid Traffic Stripe, 12 in, White	500	LF	\$2.10	\$1,050.00	\$2,40	\$1,200.00	\$2.00	\$1,000.00	
105	653-2501	Thermoplastic Solid Traffic Stripe, 5 in, White	19.1	LM	\$2,520.00	\$48,132.00	\$2,900.00	\$55,390.00	\$2,400.00	\$45,840,00	
110	653-2502	Thermoplastic Solid Traffic Stripe, 5 in, Yellow	25.77	LM	\$2,520.00	\$64,940.40	\$2,900,00	\$74,733.00	\$2,400,00	\$61,848,00	
115	653-4501	Thermoplastic Skip Traffic Stripe, 5 in, White	1	GĽŴ	\$1,575,00	\$1,575.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	
120	653-4502	Thermoplastic Skip Traffic Stripe, 5 in, Yellow	1	GLM	\$1,575.00	\$1,575.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	
125	653-1704	Thermoplastic Solid Traffic Stripe, 24 in, White	604,26	LF	\$7.88	\$4,761,57	\$9.00	\$5,438,34	\$7,50	\$4,531.95	
130	653-1706	Thermoplastic Solid Traffic Stripe, 24 In, Yellow	100	LF	\$6.30	\$630,00	\$7.20	\$720,00	\$6.00	\$600.00	
135	653-1804	Thermoplastic Solid Traffic Stripe, 8 in, White	1,000.00	LF	\$1.58	\$1,580.00	\$1.80	\$1,800.00	\$1,50	\$1,500.00	
140	653-1806	Thermoplastic Solid Traffic Stripe, 8 in. Yellow	1,000.00	· LF	\$1.58	\$1,580.00	\$1.80	\$1,800.00	\$1.50	\$1,500.00	
145	652-0120	Thermoplastic Type 2 Arrows	22	EA	\$78.75	\$1,732.50	\$90.00	\$1,980.00	\$75.00	\$1,650.00	
155	653-0220	Thermoplastic Pavement Marking, Word, Type 2	2	EA	\$105.00	\$210.00	\$120.00	\$240.00	\$100.00	\$200.00	
160	653-0230	Thermoplastic Povement Marking, Word, Type JA	2	EA	\$105.00	\$210,00	\$120,00	\$240.00	\$190,00	5200.00	
		<u> </u>		Subtotal		\$1,028,526.47	_	5442,141.34		\$1,142,280.86	
TOTAL AMOUNT						59,290,934,57		\$6,647,543.94	L	57,521,292.3	